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For 7171 and 99 - AT 2N NP YA T AneT
are generally considered to be in a wartime state

OVERVIEW

The ® 3 concluded that generally a 1°192 Row axmn is a valid axnn (and
therefore a npIn R 1192 XYW npim). However during a state of conflict
between two regions a 1°192 XKW 1Rk is not a A8 (and neither is the P
valid). 7 and 293 are considered to be in a state of perpetual conflict.
Therefore there is no %72 (and no 7p1M) between 2793 7.

mooin asks a question:
= 9127 7°98 PN INIY? \INAT 11)5'1 (Ow1 3,797 )20%) V92T NN

This is astounding! For we learnt in a /w» in the beginning of 3°w noon

that in >"'X there is no requirement to say that the vx was —

- 55935 NN 1N *aNny 23929 AN %93
written in my presence and signed in my presence, even if the vl is
brought from 71737 to 9°93; which are considered here to be on a wartime status. We
are not concerned about finding 21p 7y —

= 129D 1981 0TY 12357 9N DTN MY NIINT DIVYN
Because there are those who ascend to 221 for the holidays and there
are courts of law throughout *"X, so therefore there are witnesses available
to be 2P the vx. The people, who are 931 791, or are going to 7"3, from A7, will be
able to be o>pn the v3 in 2°73 (and vice versa). It is evident from this X723 in 703 that
sufficient people travel from 777 to 2°93 to be 0*pn a vi. These people who are traveling

should also be able to relate the nxmn. Why is there a difference between a axnn and
arp?!

Mo0IN answers:
= DPP 21Y NN NITNN NYNN ONNT 90 v

And one can say that there is indeed a difference between 1Xnn and 7P,

for there by a vx the woman is searching for 2yp S7¥; she needs them to
authenticate the 03 (in order to remarry, etc.) Therefore —

'xa97.

> When a m5 brings a v from yI%> 71 to "X, he must proclaim 1'521 1"52. This is considered an
authentication of the v3, and prevents the husband from claiming that he never sent it. It is necessary that
the m°%w be 0*>pn the L3 by saying 1"5231 1"93, for since it is from "1 we may not be able to authenticate it
otherwise. The X7nx explains that in *"X itself however there is no such requirement
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- D)9 Y0P NINT 112 D1 1Y XYM 317 §IPN NYW DP9 ANNT 99 Yy 9N
Even though that 77377> and %993 are considered to be on a wartime basis,
nevertheless she will find the 219p >7» since there are 2% "9 who travel
between 177 and 2°93. She is searching for them; therefore she will surely find them.

- AN YTY YINN NTNY 9329 PN 77THNN Yax
However the new possessor of the property it is not usual for him to
search for 7Xm» 7Y, Therefore even if there are a few people who travel between

290 77T, the P i will not hear anything from them, since he is not investigating if a
axnn was lodged against him.

mooIn has an additional question:
= 279957 N1INM 232 MRV 9INT [x.1 97 0vw] ONN TIND ON)

And if you will say; that the X7nx states there that inhabitants of Nn»

are different for they travel continually —
- 1129599 199981 031Y PRT [CDNNI 2392)] AN93 2392 NNIY NN ITXAN 1Y T>98

And therefore the 37 oW is required to say [1''521] 3''52 even if he brings
a v in the same neighborhood, for witnesses are not available to

authenticate the v3, even if it was brought from one house to another in the same
neighborhood. The people of X1nn are always traveling on business and they may not be
available to be 0»pn the vx and/or they may not recognize the signatures of their
associates even in the same 17110%. It would therefore seem that since even for a v), where
the woman is searching specifically for ovp >7¥, nevertheless X1mn is considered a place
where there are no M>p% P1¥n 7Y —

- 19392 XUV ANNM 2PN XD XHINHDA ION

Does it therefore follow that in N an absentee nNm?2 will not be

effective?! In the previous answer, mo0n concluded that it is more likely that a woman
will find the avp >7v from a war zone, than the P11 will hear the 192 X5w 8m7» from that
same place. Therefore in a case where the woman will not find avp >7¥ (such as in Xnnn),
it would seem that the P> will certainly not hear the 1°192 X?w nxnn. It seems therefore
that in X1n» a 1192 89w R will not be effective.® maon finds this to be highly unlikely!

mooIN answers:
= NN WNRYYI YN 1N INYN 79T ONNT 90 UM

? See previous 7Xm 77 2,1 Moo footnote # 3.

* In other cities in the same country, even in 2", no 1"92 is required (according to X27) since in the same
country there are P 1% 0>7v. However X1mn, which was in 2", is different.

> See "2 NN

% See “Thinking it over # 1.
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And one can say that there in X117, on their way when they leave the city

of X1nn for their travels, if these travelers heard a 7NP™ (from someone in
R1In) —
- PINNY DDA YNRYIY 1Y DOINN PIMIYI DN 33199 99395 XN MY

It is customary for the traveler to remark to others, that so and so
protested the occupation of his field and others hear about this 7%n» and in

turn relate it to others until the P11 hears of this protest. It is not necessary
for the party that heard the initial protest to remain in the city, in order for the P>111 to be
aware of the protest. Even if the initial hearing party (or any subsequent hearing parties)
leave the city, the word will still get around to others who are remaining in the city, until
it will ultimately reach the P>1mn.

= VXN DY 1INNN 1IN NN IININOY T PN V) 23y YaN

However by a v it is not usual that the signers of the vx will say while
leaving X117, that we signed on a v3,” and it is equally unusual for them to say —
(021NN 027Y 5NN N 1929910 81N]
[(or that) we recognize the signatures of the signing witnesses (which is
also a valid ovp)].’ People usually do not say these kinds of things (as opposed to saying

that 71°» *1%9 [which is a standard topic of conversation]). Therefore the woman will not
be able to be 2°°p» her va.

SUMMARY

A woman is more concerned with finding 21p >7¥ for her v3 than a person is
concerned whether anyone made a X1 on his 7p11. Therefore a woman will
more easily find a1p »7v from a 2171 nYW situation that the P>1m» will hear a
7XM72 1n this same situation.

Conversely people are more likely to mention about hearing a nXm» than
mentioning that they signed a vi. Therefore in a city of frequent travelers
(like &mmn) it is more likely that the > will hear a 1°192 RW 1Xm» than she
will find her ovp *7v.

THINKING IT OVER
1. Mmoo second question was that in Xnn a 1°192 Xow xn» should not be

7 While people may be interested if anyone divorced, they are not particularly concerned who signed the 3.
¥ According to the marginal note, the bracketed statement is from a manuscript (attributed to '010).

? It seems from Moo that if they said L3 7Y 1WANA 1AIR or O°7¥71 MDA 1K 219n and this would be reported
to 7" (by two 07v) it would be a proper o1°p. See: ‘Thinking it over’ # 2. N19010 in 12 7"7 2,7 1"V answers
simply that she will not find the ovp >7v; implying that the o7y themselves must testify in 7"°2. See
however 77 mx n"n2"n.

3

TosfosInEnglish.com



anoT a7 'on X, M21n0 702

valid." Did npon mean that the xmn should not be valid unless it is 1192,
otherwise the 7P is valid; or that since a 1°192 X?W 7Xmn is not valid (in
X11mn), the 711 should not be valid?

2. Mmoo implies that if the 2>7v would say that w7 H¥ nNM K, ete. and it
would be reported to 7"°2 it would be a valid o1p."" This seems to contradict
the rule that an 7v *on 7 is invalid!"

10°See footnote # 5.
' See footnote # 7.
12 See 7"910 and ¥ MR Dy MDA

4

TosfosInEnglish.com



